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Abstract

This paper tries to answer 3 questions

(1% Question) Can "The Giant —Impact Hypothesis" provide a complete explanation

for the Earth Moon Origin and Creation?

(2" Question) Can Mars Immigration cause a risk on Earth?

(3" Question) If Mars cause a risk on Earth, can the human save his life?

(1% Question Answer)

""Mars Immigration Theory Summary"":

- Mars original orbital distance was 84 mkm. and Mars had immigrated from it to
its current orbital distance 227.9 mkm

- Through Mars Motion from 84 mkm to 227.9 mkm, Mars had collided with Venus
and then Mars had collided with Earth also.

- From the Collisions debris Earth Moon was created —and Mars had found its
moons. And the rest debris was attracted by Jupiter and created The Asteroid Belt

The Giant-impact hypothesis is in consistency with Mars immigration theory

But

- Instead of the (Supposed Planet) Theia, Mars itself made the collisions- and
caused the Earth —Moon Creation -

Mars Immigration Theory solves The difficulties of Giant-impact hypothesis:

I. Why Venus Has No Moon? — Because Mars moved from 84 mkm to 227.9 mkm
and pushed all debris in its motion direction — far_from Venus — but Earth has
greater Mass and the debris lost their motion high momentum — so Earth could
attract some debris and create its moon

II. The Lunar Magma Ocean (LMO) Origin— is_Venus — because the moon is
created by 3 planets debris (Venus — Earth — Mars) — So their rocks are found in it

[1l. Why The Iron Oxide (Feo) of the Moon= (13%)? Because The rate (13%) is a
middle between Mars rate (18%) and the terrestrial mantle (8%).

IV. Why Mars diameter (and Mass) are decreased through the history? Because

of the collisions — Mars diameter lost around (5%) (and Mars mass also which
causes difficulties for Mars gravitation equation)
V. Why Mars was immigrated? Because of The Sun Creation Process
(A Conclusion: Giant-impact hypothesis supports Mars Immigration Theory)
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(2" Question Answer)
Mars risk is clear — because - If Mars has to return to its original point (84 mkm)
mars will (almost) collide Earth again
The question is
Why Mars will return to its original orbital distance (84 mkm)?
Because the planet orbital distance depends on the planet diameter (and mass) —So
Mars is found Now in its wrong position — and he has (a continuous) reason to return
to its original orbital distance
But some very great force prevents it...! what's this force?

THE SUN-

Now if some serious change is happened for the sun life cycle (basically because
we know that Earth is older than the sun life means it's possible to have change in the
sun life while the Earth still in life) — Shortly — the serious change in the sun life
cycle may cause Mars to return to its original orbital distance

Now
If the moon rocks analysis tell us that- Mars had collided with Venus & Earth to
produce the Earth Moon — that means- Mars almost will do the same in its return!
(some searched for the greatest Earthquake over Earth-That's)

(3" Question Answer)

The news tell that — Mars will Kill us - this is the fact!

How can the human save his life?

By answer the question — How the matter is created?

The human mind uses light velocity is the thinking process — and because of that- the
human sees (the light beam) as matter (mass)

Someone asked why the subatomic particle behaves as particle after observation and
not as a wave? How the observer effects on the observation results?

Because the human mind uses the light velocity (0.3 mkm/sec) —so the observer
effects on the subatomic particle by alight beam sends from the observer mind and
effect on the particle — as the sun rays effect on any particle

We here again.....! Lorentz length Contraction effect....!!

Is Lorentz length Contraction effect a real phenomenon or illusion of measurements?
Means — is particle own length contracted (really) by high velocity motion? or that's
illusion of measurement?! If so — that means — Lorentz Transformation measure
illusion of measurements? Or the particle own length is contracted?! A maze

One question can help greatly... How the matter is created? the matter is created by
an effect of the human mind because the human mind uses light velocity in the
thinking process and because of that the matter (which we consider as matter) is NOT
matter (really) — it's a light beam we see as matter —

By the way, the best suitable distribution for the solar planets is the light coherence
interference (Young Experiment) where the greatest bright Fringe (Jupiter) occupies
the middle point.
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1- Mars Immigration Theory Proves

(1%t proof) The Giant —Impact Hypothesis (The Geological Proves)

(2" proof) Planet diameter & orbital distance relationship (Planets Order Analysis)
(3" proof) Planet effect on its neighbor

(4" proof) Mar Immigration Motion Direction

(5" proof) Mars Immigration results (Mars Diameter decreasing — Asteroid belt Creation)

(1% proof) The Giant —Impact Hypothesis (The Geological proves)

As the paper abstract shows how Mars theory is in consistency with The Giant-
Impact hypothesis — also Mars immigration theory answers many basic questions face
the giant —impact hypothesis —as we have discussed— why Venus has no moon? the
theory solves it— because Mars Motion was from the point (84 mkm) to (227.9
mkm)— so the direction of Motion is defined - and Mars Motion pushed all debris to
move with Mars that made a wave pushed all debris far from Venus — So Venus
Couldn't create a moon for it. then these debris lost their high motions momentum
when reach to Earth position and because Earth mass is greater than Venus — Earth
could attracted some debris and created from them its moon — Now Mars Moons
supports this same description because Mars with small mass could attracted 2 moons
— How? Because the debris high momentum is lost already, and its motion became
so weak even Mars could attracted its moons — the rest debris was attracted by Jupiter
and created the asteroid belt.

Please review The Giant —Impact Hypothesis -

(2" proof) Planet diameter & orbital distance relationship (Planets Order Analysis)
Mars immigration theory is born basically based on the planets order analysis

The planets order analysis shows real puzzles ... for example

(Mercury — Venus — Earth) this order of planets shows an order in planets diameters,
masses and orbital distance — (the order rule is — A Greater Diameter Or Mass Needs
A Greater Orbital Distance) if this order controls all planets so Mars should be the
second planet after Mercury - But —

(Jupiter — Saturn —Uranus — Neptune — Pluto) the outer planets order shows that the
rule depends on planet diameter (and not mass because Uranus Diameter is greater
than Neptune but less Mass) and the rule is reversed from the previous one i.e. A
Greater Diameter Needs A Shorter Orbital Distance — this analysis refers to that Mars
may be found in a wrong position in the planets order and this wrong position causes
a disturbance for the planets order — based on this analysis Mars immigration theory
can be concluded ... to get the correct answer we need to know if There's A Real
Relationship Between Planet Diameter And Orbital Distance. — which we should
discuss in more details in next point (No. 4)

-Gerges Francis Tawdrous/ 3

2" Course student — physics Faculty — People's Friendship University — Moscow —Russia..
mrwaheidl@yahoo.com  mrwaheid@gmail.com +201022532292




O© 0O NO Ol B W DN -

AP DB DB OOWWWWWWWWWNDNDNDNDNDNDNNDNNMNDNNNMNNMNNRPEPRPRRPRPERPERERPERERERER
W NP OOWOONO O, WNPFP OO0 NO U OWDNPFP OOONO OO PMowDNDPEFOo

IN THE ALMIGHTY GOD NAME
Through the Mother of God mediation

1 do this research

(3" proof) Planet Effect On Its Neighbor

I claim any planet effect on its neighbor

Example

687 days (Mars orbital period) = 365.25 days (Earth orbital period) x1.9
687 days (Mars orbital period) = 27.3 days (The moon orbital period) X 25.2
But 25.2 degrees = Mars axial tilt and 1.9 degrees = Mars orbital incaution

Also 25.2 deg (Mars axial tilt and) = (1.9 deg. Mars orbital incaution) x 13.18 deg.
Where

The moon motion degrees daily =13.18 degrees

We should not limit our discussion for just Data consistency — let's see its depth
Because

Mars moves per solar day = 0.524 degrees (=360 degrees /687 days)

The value 0.524 degrees = (1/1.9) where 1.9 degrees = Mars orbital incaution

That means

Mars Data (25.2, 1.9, 0.524 ...etc) depends on the solar day period of time

This point still needs more analysis

The direct conclusion is:

There's an effect from Earth and Moon on Mars Motion (their neighbor)
Can we prove this effect?

Jupiter also effect Mars Data — by the same method

4331 days (Jupiter orbital period) = 687 days (Mars orbital period) x 2 n

Based on that If we find an effect of Mercury data on Mars — can that support Mars
immigration theory?

But if Mars is immigrated, why (as supposed) mercury still have effect on it? If the
Earth Moon is created by some debris from Mars, Venus & Earth, can the 3 planets
effect on the Moon Motion? (planet diameter & orbital distance may answer)!

(4" proof) Mar Immigration Motion Direction
There's one known motion in the solar system which is the planets revolution around
the sun — but Mars immigration Motion is a different direction from the revolution
around the sun- in more clear words — this motion corresponds to the light motion
direction which is sent from the sun to Mars current Point (227.9 mkm)
Such motion direction is unknown in the solar system
But
This motion same direction we have found in Jupiter Energy analysis which shows
that there's some motion (for energy from Jupiter Toward Pluto)
That tells — Mars immigration Motion direction is not unusual Direction — on the
contrary —
Please review Jupiter Energy analysis

The Giant-impact hypothesis supports,, Mars Immigration Theory,, (111)

https://vixra.org/abs/2003.0521
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(5" proof) Mars Immigration results which are:
1- The Earth Moon Creation
2- Mars Moons Creation
3- The Asteroid belt Creation
4- Mars diameter Decreasing (5%)
5- Mars Mass Decreasing (5%0)

Simply we have a reason to answer why Venus has no moon but Mars (mass =1/13)
has 2 moons?!

The fact shows itself clearly — there were no debris around Venus to create a moon
for her! Why? but mars has!? Why? because of the Motion Direction

Imagine a car moves from the point 84 mkm to 227.9 mkm —so the car creates a wave
pushes all debris in the same motion direction

That's simple and acceptable explanation...

Simply — again — the fact shows itself
The gravitation equation works correctly only with Jupiter and Saturn where...

((Saturn orbital distance)? / (Jupiter orbital distance)?) = (Jupiter Mass/ Saturn Mass)

If Mars Mass is increased with 5%......So

((Mars original distance 84 mkm)? / (Mercury orbital distance57.9 mkm)?) = (Mars
Mass/ Mercury Mass)

Also the gravitation equation tells us that, Mars orbital distance was 84 mkm — Mars
was the Mercury neighbor and had to immigrate from its original orbital distance
Why had to immigrate? (this will be discussed in point No. 6 of this paper) but now
let's analyze Mars displacement 144 mkm...
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2- The Solar Planets Order Analysis

2-1 The Planets Order Analysis
The Planets order shows almost an order depends on the planets diameters and not
masses!

- The order (Mercury — Venus — Earth) shows that greater diameter (or mass) need
greater orbital distance (contradicting the gravitation equation!)

- The order (Jupiter — Saturn — Uranus — Neptune — Pluto) shows that greater
diameter (but not mass) needs shorter orbital distance (the order depends on
Planets diameters because Uranus diameter is greater than Neptune but less mass)

- The order still tells more data ... (Jupiter — Saturn — Neptune —Uranus — Pluto) this
order is done for the outer planets based on their masses — but their days periods
are ordered based on their masses — the greatest mass has the shortest day period.

- Mars immigration theory started from this analysis — because if Mars was the
second planet after Mercury — the inner planets order will be in perfect form as
following (Mercury — Mars — Venus — Earth) the order in diameters- masses and
orbital distances...

- The basic question... does the planets order depend on their diameters or masses?
The answer is with kepler .... Let's see it in following:

"Kepler thus assumed that the volumes of the planets were proportional to their distances to
the sun and the quantity of matter they contained to the square root of this distance, so that
planetary densities varied inversely as square root of the orbital radius and is this ad hoc
way be could reproduced his third law (T? varies with a®) and absorb into physical
Astronomy" "From Eudexus to Einstein A history of Mathematical astronomy" (page 198-
199) C.M. Linton — Cambridge university Press...

- The order simply depends on both the diameter and the mass — why? because the
planet material density is a function of its distance to the sun!
- This strange idea may give some light how explain the solar planets order

2-2 Newton Gravitation Equation
Why The Solar Planets Order doesn't follow the gravitation equation?

(Saturn orbital distance) > Jupiter Mass

= =34
(Jupiter orbital distance) > Satrun Mass

We remember this equation...

This equation tells that J

Jupiter and Saturn follow perfectly the gravitation equation

We can't find any other planets follow the gravitation equation...
Spite of that ...the gravitation equation proves clearly the following:

Gerges Francis Tawdrous/ 6
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1- Mars original orbital distance was 84 mkm

2- Mars original Diameter was 7070 km
So the gravitation equation strongly support "Mars Immigration Theory"
Let's see that in following

(Mercury orbital distance 57.9mkm)?>  Mars Mass 0.668
(Mars original orbital distance 84 mkm) ? Mercury Mass 0.33

(Equation Error 3.4%)

Mars registered Mass = 0.642 x 10%* kg (when Mars diameter =6792 km) ...so
Mars Mass will be = 0.668 x 10> kg (when Mars diameter =7070 km)
So Mars Mass and Mars orbital distance with Mercury Mass and orbital distance all
are controlled by the gravitation equation (a similar to Jupiter and Saturn)
Just If
(1) Mars orbital distance =84 mkm
(2) Mars Mass =0.668 km x10%* when Mars diameter =7070 km

(1)

If Mars didn't immigrate from its original orbital distance (84 mkm) to its new orbital
distance (227.9 mkm) — the planets order will be created based on the gravitation
Equation without any disturbance —

Shortly — Mars Was Mercury Neighbour

(2)

Mars immigration was a great catastrophe in the solar system could destroy it — but
because Saturn and Jupiter unify their powers to save the solar system — the solar
planets still in life

2-3 Mars Diameter Decreasing

Did Mars diameter decrease through the history?

Yes — it was 7070 km and becomes 6792 km (The Difference 4.1%o)
How to prove that?

Based on the diameter analysis we have 2 proves as in following:

(15t Proof)

The planets order —"*"Mercury — Mars — Venus — Earth" — Perfect order
(2" Proof)

(1) Mercury Orbital Distance 57.9 mkm = Mercury Diameter 4879 km x 1092
(2) Earth Orbital Distance 149.6 mkm = Earth Diameter 12756 km x 1092
(3) Saturn Orbital Distance 1433.5 mkm = Saturn Diameter 120536 km x 1092

(4) Mars (Original) Orbital Distance 84 mkm = Mars (original) Diameter 7070 km x 1092
For more details please review
The Solar Planets Order Still Shows More Puzzles
https://vixra.org/abs/2004.0086
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3- The Observer effect on the observation process

3-1 Lorentz Transformation Analysis

Let's again consider Lorentz Transformations-

Lorentz Transformations tell us that, Particle length is contracted and its mass is
increased with this particle high-velocity motion!

Also the Particle time and distance are changed because of this same motion-

Einstein & his friends dealt with time and distance and give us Space-time geometry

| Interest For Particle Own Nature — as | understand — Lorentz Transformations
tell that Particle Length & Mass are changed with high velocity motion

If this contraction is a real effect on particle nature or just illusion of measurements!
This question we analyzed many times —and | concluded that it's A Real Effect
Why? Because

(1%%) Empirical results prove these features (length contraction- mass increasing)- and
We need to protect the physical experimental measurements credibility- means we
attribute any properties to any particle based on experimental results ....And

(2" If the particle real (and correct) data is found when this particle motion relative
to me = zero, that means I'm The Universe Reference Point.

So The questions are clear —

(1%t Question)

Is Lorentz Length Contraction effect a real phenomenon occurred for the particle own
nature or just illusions of measurements?

It's A Real Phenomenon (the same conclusion for Particle Mass Increasing)

(2" Question)
Why?? Why particle data is changed with this particle high velocity motion?

Let's use the following example....

Suppose 2 observers travel with light velocity — So

The First Observer Velocity =0.3mkm/Sec = The Second Observer Velocity
How does each observer see the other?

No difference in velocity between both- What does special theory of relativity tell us?
The velocity is relative and no meaning for "the absolute velocity"- so we don't care
for their velocities relative to ours — we care for their velocities relative to each other
— no difference in velocity — Each observer will see the other as a matter (Particle)!
We see both of them as light beams!

This is my idea — we have an observer travels with light velocity in our mind —
each light beam we see as a matter — and any motion slower than light velocity we
see as light beam — that means the universe is consisted of motions basically and The
Matter Is Created As A Side Product.

That explains why Particle data changes with high velocity motion! this particle
original data is defined based on this particle ordinary motion relative to light
velocity (our minds) - Now this particle travels with high velocity which changes
the basic conditions - ....Let's provide more analysis in following...

Gerges Francis Tawdrous/ 8
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3-2 The Dualism Nature
Why the Particle has 2 natures (Wave And Particle)?

Imagine we have a light velocity in our mind —so our mind works by ¢ =0.3mkm/sec
Now

We have another motion — this motion for particle or wave we don't interest-

it's a motion

And this motion can be accelerated

When the motion acceleration be so high and can make this motion velocity = light
velocity we will see this motion as A Particle

And when the acceleration is so weak and make this motion velocity very less than
light velocity — so we will see this motion as A Wave

So particle double natures are found as a result of our mind effect on the universe
different motions —

We Need To See This Universe Is Consisted Of Motions Basically — We Need To
See The Matter As Side Products Where The Motions Are The Basic Players

Some Objections

(1)

Some one will tell that — there's no any empirical proof that the human mind uses
light velocity specially because the electric pulses velocity in human brain and body
Is so slow relative to light velocity!

It's true — because light travels in liquids with velocity less than light velocity in
vacuum — that means — we need only a piece of vacuum in human mind to restore this
Pulses the light velocity —

(2)

Do we understand the experimental results and measurements which we have in labs?
Einstein told us that we didn't understand the time and space values which we have
measured for hundreds of years before him — where these values were considered
absolute values, in fact they are relative — so the measurements aren't enough but
need also a theoretical explanation behind

Gerges Francis Tawdrous/ 9
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3-3 The relativistic Effects Nature

We know there are relativistic effects produced by high velocity motions— and there's
light beams in every where around us — means — usually there are relativistic effects
around us

The question simply is

How does a relativistic effected system cooperate with non-relativistic system?

Special Theory of Relativity (SR) gives us some incomplete vision —particle length is
contracted by this particle high velocity motion- very good — how the new contracted
length will behave in the system?

We see the universe moves in perfect organization — means there's a cooperation
between all factors — now there are relativistic and non relativistic dimensions — these
all dimensions are cooperated with each other — how does that happen?

The relativistic effects are not —at all- strange effects for the human mind — the
relativistic effects are similar to other geometrical effects- and the relativistic effected
system is cooperated geometrically with the non effected system

Here the geometrical basics are produced —

That means
When we study this cooperation with enough deep we will gain 2 important results
(1) We will know which geometry can be applied for the universe motions
(2) We will have explanations for this geometry axioms — because it's NOT a
human creation geometry — it's the universe geometry and each axiom is found
because of its geometrical necessity
| want to say
Just the relativistic effects discovery proves that the human mind uses light velocity
in thinking process —
That because
SR gives us a broken vision — 2 different frames — and SR gives us no geometrical
rules how these pieces can be unified to create one system — but the one system is
found already in the universe — so that — means — there's no broken here!
This is similar to the following argument —
Particle electromagnetic properties can't predict its mechanical properties — so we live
in 2 different worlds — the matter world and the mind world!
It's wrong — we live in one world- how to prove? The chemical interactions prove
One world — that means —Particle Electromagnetic properties MUST predict its
mechanical properties otherwise we have an absent part in our book ....

Please review

Is There A Contradiction Between SR And GR? http://vixra.org/abs/1912.0441
Lorentz Length Contraction Is A Real Phenomenon & Not Illusion Of Measurements
http://vixra.org/abs/1911.0468
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4- Can Titius Bode Law Disprove Mars Immigration Theory?

The question here is — If Mars had immigrated from its original orbital distance why
Bode law use Mars Current orbital distance normally as the other planets without
disturbance?

Why Titius- Bode law couldn't predict Neptune orbital distance? If the law predicted
all other planets, why can't predict Neptune distance?

Let's ask another question

Why there's no more equations which are followed by all planets as kepler Laws?

| have many new equations — but no one is used for all planets! Why?

Bode law also anther example for this same puzzle?! An Equation works for 6 or 7
planets but not for the rest! We have to suppose that, the 6 planets followed the same
one equation by pure coincidences! (even Bode law was considered as pure
coincidence!)

This is NOT an easy question.... The answer pure coincidence will be removed...

We need a real explanation....! What's going on here?

We deal with a classified order had a disturbance for some reason —
Many equations and analysis show that Mars was exceptional in its data
There's a disturbance caused by Mars immigration

But — what then- the life is stopped! No- the life is continuous

So —Mars will find some configuration in its new orbital distance — the planet still in
life and does its geometrical job

Now we have 2 different stories — in the ancient one Mars was in 84 mkm — and in
the modern one Mars is in 227.9 mkm from the sun — and Mars in its new orbital
distance creates its configuration with the other planets

Shortly —
Why Titius—Bode law shows no difficulties with Mars (current) orbital distance
(227.9 mkm)? Because of 2 reasons

(1%%) Mars created its configuration in its new orbital distance (227.9 mkm)

(2")  because Mars current orbital distance (227.9 mkm) is (an obligatory
displacement) defined by the solar system geometry, means, the displacement is
found by a general cooperation between all planets which support the configuration
for Mars current orbital distance (227.9 mkm)

Let's try to prove that as possible in following

Mars Displacement Equation

25920 mkm = 144 mkm x180
- A light with known velocity (0.3 mkm/sec) during a period 86400 seconds (a solar
day) travels a distance = 25920 mkm
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- Also — all solar planets move together during (a solar day) a distance =17.75 mkm
and so during 1461 solar days they move a distance =25920 mkm

- If 180 degrees is a geometrical value in the soalr system — so the value 144 mkm
must be an obligatory one

Also

- 180 mkm x 0.8 = 144 mkm where (0.8 degree = Uranus orbital inclination)

Now the rate 0.8 is found frequently in the solar system — for example

- Earth Jupiter distance = 0.8 x Jupiter orbital distance —

- | want to say that — the rate 0.8 defines many distances relative to each other — this
effect is one of Uranus important effects on the solar system geometry — please
review it

- In this point we need to show that the value 144 mkm was defined by 2 ways at
least

o (1%) by the planets diameters (Mars and Venus Diameters)

o (2" by the general solar system geometrical structure —which tell us that —
Mars had 2 choices only which were to stay in 84 mkm or to move to 227.9
mkm and no more chances are available because the value 25920 mkm
control all data

o So the question is, Why Mars had to immigrate? This question will be
discussed in the next point (Point No.6)

Discussion

My equations which show that Mars Data was exceptional —

Titius—Bode law doesn't refer to this fact (that Mars is exceptional) but instead —

Titius—Bode law refers to Neptune as an exceptional -

| want to say that

- Mars immigration caused a disturbance for the solar planets order — and this
disturbance is seen in the equations breaking points (and because of that we have
no more general laws as kepler- but we have broken equations- as Titius—Bode
law or my next equations)

- The breaking point isn't necessary to be found always with Mars — Because Mars
created a configuration with its neighbors, so the breaking point can be transported
to another planet (as happened with Neptune in Bode law)

- So my equations and Bode law supports each other, they show a breaking in the
equations and inconsistency for the data order and because these equations are
followed by some planets (but not all planets) so we can conclude that there's
some order is confused here which results these equations breaking points.

- i.e. Kepler Laws were so rare because of Mars Immigration Theory

For Full Discussion Please Review
Can Titius Bode Law Disprove Mars Immigration Theory?
https://vixra.org/abs/2004.0292
Gerges Equations For Solar Group Geometry
https://vixra.org/abs/1906.0564
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5 — The Greatest Earthquake in the Earth history

December 2012 had many mysteries PLANETARY ALIGNMENT WITH THE G1ZA PYRAMIDS,
IT ONLY HAPPENS ONCE IN2,737 YEARS

(1%%) this image is seen frequently on media predicting that on
3@ December (Mercury- Venus- Saturn) will be perpendicular
on the 3 Great Pyramids Heads — which is a cycle repeated
only once each 2737 years!

(2"%) Mayan Calendar long Cycle continuous for more than
5000 years — is completed on 21 December 2012 — someone
told the pyramids works as an O'clock for Mayan Cycle!

(3 A prediction for the greatest Earthquake hit the whole Earth was spreading for
months before December 2012!
Nothing happened and every thing is forgotten now

| have studied the solar system Geometry from this date (November 2012) till now
trying to know what truth behind all these mysteries

Mars Immigration Theory provides a very similar earthquake

And

Mars Immigration theory is supported strongly by the "Giant —Impact Hypothesis
in addition to many other proves —

So what we still need to know is:
- Why Mars had immigrated from its original orbital distance (84 mkm) to its new
current one (227.9 mkm)? i.e. What event had caused Mars immigration?

My answer is that
The Sun Creation Process had forced Mars to immigrate.

This answer causes even more difficulties —it tells us — Mars Displacement from the
Point (84 mkm) to the point (227.9 mkm) depends on The Sun Life Cycle

le.

Mars Displacement is NOT a motion in one direction ......... but

It’s Go & Return Motion —

If (really) the sun creation process caused Mars to immigrate from its original orbital
distance — that means — some (serious) change in the sun may cause Mars to return to
its original orbital distance (and collide with Earth Again) — that's The Earthquake.
Simply
Mars Immigration Theory tells us that — there's an astronomical reason for the
warning issued in 2012 — it was not an empty year and not an empty warning but the
knowledge was so weak and no one got the news!

Please review

Is the 2737 Phenomenon a real one (111)
https://vixra.org/abs/2004.0316
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